HENESEREEES ™R
SH4E281 78 (K)

6:550) (81 @ kg )
pHE i miEH o2 = B Z B " =

S 23% RAIT 295.4 30 20
<IN 95.8 50 20
£S5 853.5 1,451 239
AATHLA 31.6 669 100
JUH LA 2,637.4 083 70
LEFLA 289.9 471 30
FHHLA 55.0 411 20
TFELSHLA 890.7 880 150
=EAHLA 186.0 350 20
HSRALA 66.5 59 20
%55 2,337.9 140 20
<S8 50.0 1,159 1,019 |5 0"
2 R85 98.7 60 24
2OoF 140.6 211 20
FAALY 2,574.8 1,829 366
<7+ 82.8 1,200 200
IVAVTAFX 84.3 201 30
TVAYTAF A 60.0 1,501 L
F7>0 3,693.0 451 92
NIHZS 711.6 50 22
FAF X 52.4 1,220 210
22 75.4 1,000 156

I 14,972.1




[fi¥£a]) (847 kg )
FRZETELE AfEE W =2 = B Z 1B fm &
ShE 238 REAR 24.5 970 20
IXHYT 178.9 856 20
U5 450.8 1,000 321
U A P 120.0 4,649 3,279 |on 2
SIINSESy 352.3 496 311
<5 35.1 789 100
=247 120.0 780 439
4T 1,518.8 676 56
AFF<3 945.2 1,600 700
astuE 18,717.7




§::3=:) (BT ¢ kg )

JRETELE =V n = = 18 Z 1B B &
EEXRIE 108 |/ HD>TIOA 85.6 1,800
Nt 85.6




(&)

(EfZ : kg )
pHE i miEH o2 = B Z B " =
HE 23% <7+ 360.6 1,600 800
X453 99.9 900 400
80 4% ESX 73.5 2,600 500
AN

534.0




